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M.A. (Previous) EXAMINATION, 2022
ECONOMICS
PAPER THIRD

(Quantitative Methods)

Time : Three Hours] [Maximum Marks:100

 


Note :Attempt all the five question. One question
from each unit is compulsory. All questions
carry equal marks.

1 / Unit - 1

1. 


What do you understand by Cobb-Douglas produc-
tion function? Explain.

P.T.O.
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(OR)



Write a note on Linear Programming.

2 / Unit - 2

2. 


X : 75 79 70 76 77 81 84 75

Y : 62 68 65 60 69 72 76 72

Calculate Karl Pearson’s coefficient of correlation and
its probable error from the data given below :

X : 75 79 70 76 77 81 84 75

Y : 62 68 65 60 69 72 76 72

(OR)



 3x + 2 y – 26 = 0

2. 6x + y – 31 = 0

x y 

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Find the mean of x and y and the coefficient of corre-
lation between them. The regression equations are
as follows:

 3x + 2 y – 26 = 0

2. 6x + y – 31 = 0

3 / Unit - 3

3. 


x : 1 2 3 4 5

Y : 7 – 13 21 37

From the table given below, calculate the missing value
using direct Binomial expansion method-

x : 1 2 3 4 5

Y : 7 – 13 21 37

(OR)

A, B, C D 


1 1 1, ,2 3 4  15 



P.T.O.
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A Problem is statistics is given to four students A, B,
C and D whose chances of solving it are given to be
1 1 1, ,2 3 4  and 15 . What is the probability that the

problem will be solved?

 4 / Unit - 4

4. 


From the following data, construct the Fisher’s Ideal
Index Number taking 1991 as base:

                     

    

Commodity (Price) (Quantity) (Price) (Quantity)

A 06 50 10 60

B 02 100 02 120

C 04 60 06 60

D 12 40 15 25

E 08 50 12 35

(OR)
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


What is analysis of time series? Explain the various
components of time series.

5 / Unit - 5

5. 







Write short notes on (any - 2)

(a) Stratified sampling

(b) Type-I and Type-II error

(c) Census and sample inquiry

(OR)




t =
2.571 

P.T.O.
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Six boys are selected at random from a school and
their marks in mathematics are found to be 63, 63,
64, 66, 60 and 68. In the light of these marks, discuss
the general observation that the mean marks in math-
ematics in the school were 66. Given : t  0.05 at 5 d.f.
= 2.571


